Challenge questions — Fluency
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7a. Complete the images and improper
fractions below to match the mixed

Challenge questions — problem solving
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-g- because a ninth is three
fimes bigger than a third.

Is she correct? Show how she could use a
diagram to check her answer.

8a. Gemma and Martha are converting
mixed numbers to improper fractions.
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Who is correct?
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Answers — Fluency
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8a. Gemma is correct.
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5a. Use two number cards to complele
the equation.
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Find two possibilifies.

éa. Callum has put these froctions in
ascending order.
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Explain his mistake.

Rewrite the fraclions in the comrect order
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u.mh the same denominators.

Problem solving

4a. Luna is incorect. Various answers, for
example: $he could use a bar model which
shows thot % > % as each third is larger
than each ninth.
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éa. Callum has ordered the fractions by the
numerators before finding o common

denominator. The comect order is
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